



Summary of Events during Anti Ragging Week Celebration

Anti Ragging Day was observed at Gujarat Adani Institute of Medical Sciences, Bhuj on 12-08-2023 followed by Anti Ragging week from 12-08-2023 to 18-08-2023.

Details of various activities conducted during the Anti Ragging Week is as below,

Sr. No.	Date and Tim	ne	Activity	Page
1.	12-08-2023		<u>Anti – Ragging Day</u>	
	12:00 PM	to		02
	01:00 PM			
2.	14-08-2023		Slogan and Logo Designing	
	04:00	PM	Competition	03
	Onwards			
3.	17-08-2023		Poster Making Competition	
	04:00	PM		04
	Onwards			
4.	18-08-2023		Essay Writing and Debate	
	04:00	PM	Competition	05
	Onwards			
5.	18-08-2023		Prize Distribution Ceremony	
	05:00	PM		06-08
	Onwards			





Anti Ragging Day Celebration

Anti Ragging Day was celebrated at Gujarat Adani Institute of Medical Sciences, Bhuj on 12-08-2023 where Dean and Director-Medical along with faculties made students aware about what amounts to ragging, the anti-ragging committee, the help line number and various steps taken by the institute so as to prevent any incident of ragging. A skit was also organized by the students as part of the















Slogan and Logo Design Competition during Anti-Ragging Week

To raise awareness and combat ragging, GAIMS, Bhuj organized a competition involving students, faculty, and staff to create slogans and design logos during the Anti-Ragging Week celebration. Awards were presented to recognize the best slogan and logo. On August 14, 2023, a display of these slogans and logos was organized on the college campus to promote anti-ragging initiatives to the entire college community. Here are some highlights from the event:

Best Slogan: Out of 40 entries received, this was awarded as best slogan.

"Harmony Prevails, Ragging Fails: Unite against Bullying, Speak Up and Stand Tall Together!"

Best Logo: Out of 19 entries received, this was awarded as best logo.



Glimpses of the event:





Bhuj 370 001 Gujarat India Ph. +91 2832 246246 Fax +91 2832 258080 info@gaims.ac.in www.gaims.ac.in







Poster Making Competition

Total 17 teams participated and below was awarded the prize of best poster.



Glimpses of the event:



Bhuj 370 001 Gujarat India Ph. +91 2832 246246 Fax +91 2832 258080 info@gaims.ac.in www.gaims.ac.in





Essay Writing and Debate Competition

As part of anti-ragging week celebration an essay writing competition was held on 16th August'2023 where MBBS students and interns of the institute participated.

The topic was "Ragging is not an icebreaker; it is a life breaker" and a total of 16 students participated in the event.

Miss Aishwarya Bhensdadia of batch 2020 was the winner of essay writing competition.

A debate competition was also held on 18^{th} August'2023 where MBBS students and interns of the institute participated.

The topic of the debate was "Grooming of freshers by the seniors is ragging in disguise" and a total of 14 students and interns participated in the event, where 7 participants spoke for, and 7 participants spoke against the topic.

The winner for debate competition were Miss Arai Bharga of batch 2022 and Mr.Niket Bathiya of batch 2021,who spoke for and against the topic respectively.

Glimpses of the event:



Bhuj 370 001 Gujarat India Ph. +91 2832 246246 Fax +91 2832 258080 info@gaims.ac.in www.gaims.ac.in

5 of 8





Anti-Ragging Week Prize Distribution Ceremony

Best Logo





Best Slogan: "Harmony Prevails, Ragging Fails: Unite against Bullying, Speak Up and Stand Tall



Bhuj 370 001 Gujarat India Ph. +91 2832 246246 Fax +91 2832 258080 info@gaims.ac.in www.gaims.ac.in

6 of 8





Best Poster:



Best Essay



Bhuj 370 001 Gujarat India Ph. +91 2832 246246 Fax +91 2832 258080 info@gaims.ac.in www.gaims.ac.in





Best Speaker: For the motion



Best Speaker: Against the motion



Bhuj 370 001 Gujarat India

Ph. +91 2832 246246 Fax +91 2832 258080 info@gaims.ac.in www.gaims.ac.in

8 of 8